PERMIT

CDBG

CITY OF NAPOLEON, OHIO — DEPT. OF BUILDING & ZONING 255 W. Riverview Avenue, Napoleon, Ohio 43545 (419) 592-4010

Permit No		140 N Pars
		Date11-21-80
Job Location 8 Demolitions	Valuation \$	
Owner per bids	Address	
Contractor wren Reese, Inc.	Telephone	No. 599-2065
AddressP.O. BOX 349 N	apoleon, OH. 435	545
Electric Contractor		
Plumbing Contractor		
Mechanical Contractor		
This permit is issued for work described in the mitted, as approved by the Building Commission conform to all pertinent construction and land	aner of the City of Non-i-	Obla 144-14 4 -41
Nork Information:		
Residential Commercial	inc.	: Justrial
lew Construction Addition		lomodal
New Construction Addition Brief Description of Work 8 demolitions		lemodel
is the owners or contractors responsibility to call the uilding Department for the following (x) inspections:		
	ÞF	RMIT & FFFS
		RMIT & FEES
Footing excavation prior to placing concrete.	Building Permit	\$
Footing excavation prior to placing concrete. Footing drains and foundation prior	Building Permit Electrical Permit	\$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill.	Building Permit Electrical Permit Plumbing Permit	\$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing	Building Permit Electrical Permit	\$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab.	Building Permit Electrical Permit Plumbing Permit Mechanical Permit	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit Water Tap	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and heating.	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit Water Tap Sewer Tap	\$ \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit Water Tap Sewer Tap Temp. Elec. Other	\$\$ \$\$ \$\$ \$\$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and heating. XX Final building inspection, prior to	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit Water Tap Sewer Tap Temp. Elec. Other TOTAL FEES	\$ 105.00 \$ 105.00 \$ \$ 105.00 \$ \$
Footing excavation prior to placing concrete. Footing drains and foundation prior to backfill. Prepared sub-grade prior to placing concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and heating. XX Final building inspection, prior to	Building Permit Electrical Permit Plumbing Permit Mechanical Permit Demolition Permit Zoning Permit Sign Permit Water Tap Sewer Tap Temp. Elec. Other	\$ 105.00 \$ 105.00 \$ 105.00 \$ 105.00

WREN REESE, INC. • General Contractors

BRIDGES

ROADS

PILE DRIVING

PAVING

HEAVY CONSTRUCTION

P.O. BOX 349 NAPOLEON, OHIO 43545
TELEPHONE: 599-2065

A. C. 419

November 21, 1980

Mr. Richard Hayman Building Commissioner City of Napoleon 255 W. Riverview Napoleon, OH 43545

Dear Sir:

We request a demolition permit for the following properties which have been designated for removal by the City of Napoleon, Ohio:

NO.	ADDRESS	TYPE	SIZE	S.F.	FEE
1.	Riverview Ave.	Barn	15 x 26.	390	
2.	746 W. Main	Shed	10 x 12	120	
3.	628 Leonard	Shed	8 x 10	80	
4.	946½ Perry	Shed	15 x 18	270	
5.	744 W. Washington	Barn	15 x 30	450	
6.	505 S. Perry	Barn	30 x 50	1500	
7.	206 Lagrange	Barn	35 x 50	1750	
8.	112 E. Front Com	m.Bldg.	50 x 70	3500	

Very truly yours,

WREN REESE, INC.

Wren T. Reese

Secretary

CITY OF NAPOLEON BUILDING INSPECTION DEPARTMENT APPLICATION FOR BUILDING PERMIT (Please print or type)

The undersigned hereby makes application for construction, installation, or alteration work as herein specified, agreeing to do all such work in strict accordance with the City of Napoleon's adopted Building Codes.

	enticipage distributions of	atte ya (technic laharaken vapa)	The state of the s	No. of the Control of	
Location of p	10ject_934	N. PIER	PR 4 Cost C	of project	n like-sillikeri i Prode Nakonser ratiko oskir olikeza negori var
Owner's Name	Ken U	loods	2.00 £ 2 5 5	914 Pa	rk
Contractor_/	Vren B.	lete a comment of	Telephone	No. 599-	-2065
			Majele		Mathematics designs interpretable when the first process to a second
Lot Informati	on: (Not rec	oured for si	ding job)		
Lot No. 2	22+23 St	abdivision A	eny Yeage	no 3rd	
Zoning Distri	ct /-/ In	et Size	ft. X ft.	Area	sq. ft.
Setbacks: Fr	ontRi	.ght Side	Left Side_	Rear	CIB Do
Work Informat	ion:				
Residential		Commerci	al	Industrial	angus nord resolute melhinastina sala anda k
New Construct	ion	Addition	and the control of th	Remodel	nglart fr haftstronglik i dellikspronglik i rilljamostakom stat
Accessory Bui	Iding Don	rotelios	Siding		
Brief Descrip				Specific Typ)e)
			The first Order I shall all hands have been still determined the relationship and a series of the se	He State Charles and Charles a	rediction for the same and Constants Com-
Size: Length	15 W1d	th 18	No. of Stories	The a following from the confidence of the confi	
Area: lst Fl	OOT	sq. ft.	Basement	sq.	ft.
			Accessory Bldg		
3rd Flo	oor and a second	sq. ft.	Other	SQ a	
Additional In	formation:	2/60	productive states and a second state of the second states and second states are second states and second states are second states and second states are seco	fire and the contract of the c	Sprenz Ph. v. a Marin a sa rina i
The second secon		(0 - 1000) - 100 H (Alphaeldowrg) - 100 mae'r addin o'r 1 - 1000)			
INCLUDING: E	LEVATIONS, FL Emodeling, sh	OOR PLANS, CI OU ALL EXIST	ANIED BY TWO CO ROSS SECTIONS A ING STRUCTURES SCALE.	NO PLOT PLAN	ZE AND
Vate 21 Nov	0		s Signature/V	PEN WAK	30

PERMIT

CITY OF NAPOLEON, OHIO - DEPT. OF BUILDING & ZONING 255 W. Riverview Avenue, Napoleon, Ohio 43545 (419) 592-4010

Permit No163					
Job Location 8 Demolitions				Date	11-21-80
Owner had Address		Valuation	\$		
Contractor Wren Reese, Inc.	Addre				
Address P.O. Box 349	Napoleon	Telephor	e No.	599-	2065
Electric Contractor	maporcon,	On. 43	0345		
Electric Contractor					The est
Plumbing Contractor Mechanical Contractor					
This permit is issued for work described in t mitted, as approved by the Building Commis conform to all pertinent construction and is Nork Information:	he plans, speci sioner of the Ci ind use Codes	lications, ar ty of Napol and Ordina	nd/or a eon, O inces.	application Phio. Wo	on sub- rk shall
ResidentialCommercial_ New ConstructionAddition		in	dustri	al	
New Construction Addition Brief Description of Work 8 demolitions			Remo	del	
is the owners or contractors responsibility to call the illiding Department for the following (x) inspections:		PI	ERMIT	& FEES	
Footing excavation prior to placing concrete.	1	Permit		\$	
Footing drains and foundation prior to backfill.	1	Permit Permit	1		
	, idinbilig		4		
Prepared sub-grade prior to placing	Mechanic	al Permit	\$		
Prepared sub-grade prior to placing concrete floor slab.	Mechanic Demolitio	al Permit n Permit	\$	105	
Concrete floor slab. Sanitary sewer	Mechanic Demolitio Zoning Pe	al Permit n Permit ermit	\$		
Concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and	Mechanic Demolitio Zoning Pe Sign Pern	al Permit n Permit ermit nit	\$		
Concrete floor slab. Sanitary sewer	Mechanic Demolitio Zoning Pe Sign Pern Water Tap	al Permit n Permit ermit nit	\$		
Concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board.	Mechanic Demolitio Zoning Pe Sign Pern Water Tap Sewer Tap	al Permit n Permit ermit nit	\$		
Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board.	Mechanic Demolitio Zoning Pe Sign Pern Water Tap Sewer Tap Temp. Ele	al Permit n Permit ermit nit	\$		
Concrete floor slab. Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and	Mechanic Demolitio Zoning Pe Sign Pern Water Tap Sewer Tap Temp. Ele Other	al Permit n Permit ermit nit o c.	\$	105	-00
Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and heating. XX Final building inspection, prior to	Mechanic Demolitio Zoning Per Sign Pern Water Tap Sewer Tap Temp. Ele Other	al Permit n Permit ermit nit c	\$ \$ \$ \$ \$	105	MALES OF THE STATE
Sanitary sewer Rough-in electrical, plumbing and service framing prior to installing wall board. Final electrical, plumbing and heating. XX Final building inspection, prior to	Mechanic Demolitio Zoning Pern Sign Pern Water Tap Sewer Tap Temp. Ele Other	al Permit n Permit ermit nit o c.	\$ \$ \$ \$ \$ ID \$_	105	MALES OF THE STATE

WREN REESE, INC. - General Contractors

BRIDGES • ROADS • PILE DRIVING • PAVING • HEAVY CONSTRUCTION

P. O. BOX 349 • NAPOLEON, OHIO 43545 TELEPHONE: 599-2065

November 21, 1980

A. C. 419

Mr. Richard Hayman Building Commissioner City of Napoleon 255 W. Riverview Napoleon, OH 43545

Dear Sir:

We request a demolition permit for the following properties which have been designated for removal by the City of Napoleon, Ohio:

NO.	ADDRESS	ТҮРЕ	SIZE	C D	
1.	Riverview Ave.	Barn	15 x 26.	390	FEE
2.	746 W. Main	Shed	10 x 12	120	
3.	628 Leonard	Shed	8 x 10	80	
4.	946 Perry	Shed	15 x 18	270	
5.	744 W. Washington	Barn	15 x 30	450	
6.	505 S. Perry	Barn	30 x 50	1500	
7.	206 Lagrange	Barn	35 x 50	1750	
8.	112 E. Front Com	m.Bldg.	50 x 70	3500	

Very truly yours,

WREN REESE, INC.

Wren T. Reese Secretary

WTR:jef